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Tnpsc Aptitude & Mental Ability

Model Questions With Explanation Set 4

1. If 20% of A=B and 40% of B=C then find 60% (A+B)

A 60T 20% = B LOMMILD B 60T 40%= C6TGON6L (A+B) -60T 60% & IT6UOT

a. 30% of C b. 60% of C c. 75% of C d. None of these
Solution
2 A =B
100
N pg=c
100
ZA=B
5
B=cC
5
5
A = 5B and B = 5 C

Sub B value in A = 5B

A=§Cand3= C

N |

60% (A+B)=—=-(2 C + 2 C )

60
100

60x%15
100

30
(7 C) =

_ 900
100

2. A rational number is such that when we multiply it by 5/2 and add 2/3 to

the product we get -7/12. What is the number?
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@@ aNEGUPMI 6TEUITEM6TDT 52-60 CQUHEHES 6UIHLD QLI &S MHLIEVEHIL 60T 2/3
D& Fal Iq6MS -7/12 HMLS@GLD eT6rfleL leuaNHGLPM)] 6T6UOT 6TF)I?

a. -3/2 b. 3/2 c. ¥ d. -1/2
Solution
This type of question can be solved from the option

If we take option A 5/2 * (-3/2) = (-15/4) and when we add 2/3 with it will
produce -37/12

When we take option D 5/2 * (-1/2) = - 5/4 and when we add 2/3 with it will

produce (-5/4) + (2/3) = (-15/12) + (8/12) = -7/12

3. A pie diagram is with dimension

QeuL 9.5 8I600T(B (pie) EUMPUL SHH60T LIFILDMEHUTLD 6T 55 606012

a. one b. three c. two d. four
Solution

A pie diagram represents area (parts of a circle are used to represent different
things). Thus it is two-dimensional. A line (any thing that has length) has only
one dimension, any thing that has area has two dimensions and any thing that

has volume has three dimensions. A point is zero-dimensional.
4. (0.756 x% ) is equivalent to

3 . .
(0.756 X~ ) &@& FLOLOMGIG] 6THI?

a. 18.9% b. 37.8% c. 56.7% d. 75%
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solution

Type 1

(0.756 x 3/4) = (756/1000) x (3/4) x 100 % = 56.7%

Type 2

% is also 0.75

If we know the square of 75 we can easily find the answer

0.75 * 0.75 = 0.5625 =56.25

But in the question it has asked for 0.756 but we have taken only 0.75

From option only one value is nearer to 56.25 is 56.7 which is the correct

answer.

5. In how many years will a sum of money double itself at 18.75% per annum

simple interest?

QUBGLSHMDG 18.75% 6T6tTm erafll auLlg alHFHSHSH60, QHT6m W68
THG M6 6U(HLMiG6afle0 QL 1qLLmEGLD?

a. 4 years 5 months b. 5 years 4 months
c. 6 years 2 months d. 6 years 5 months
solution

Let The Principal be x and time y

R 18.75%

A

2X
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A=P + 1
2x = x + x*18.75*y/100 ---------- [I = PRT/100]
2x = x + 18.75xy/100

2x - x = 18.75xy/100

x = 18.75xy/100

100x = 18.75xy

100 = 18.75y

100/18.75 =y

5.3333 Years

<
1

5 Years 4 Months

<
1

6. The compound interest on Rs. 30,000 at 7% per annum is Rs. 4,347. The

period (in years) is

€M5.30,00 6T60TMN QBHTM&HE G, I 6WMGMDE 7% Fal (b 6uULlg &GS Hev
THG M6 34,6001 (H &H6l6L Fal (B QUL_lg €. 4,347 34(SLD.

a. 2 years b. 2 ' years c. 3 years d. 4 years
Solution

Type 1

Amount = Rs.(30000+4347) = Rs.34347

let the time be n years
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- R \n
P—C(‘I+1OO)

Then,30000 (1+7/100)"= 34347

107
100

34347_ 11449_

107
30000 10000

100

Goo)" = = (3 )*

n = 2years

Type 2

30000*7% = 2100 /- per year

from option if considered. 2 years 4200/- and 2100*7% = 147
total = 4200+147 = 4347.

7. In an equilateral triangle whose side is 3V3 cm, the length of its altitude is

@ FLUSS (NSHCHTOINSHH T LSS 66 3v3 Q.8 erefled 1860
GSHGIWTSHS6T Sl6M6Y eTeTLG)

a. 45 cm b. 55 cm c. 10.3 cm d. 9.6 cm
solution

Type 1

Given:

Side of an equilateral AABC= 3V3 cm.

AB= AC=BC = 3\3 cm

Let AD = h (Altitude)

BD = % BC( ALTITUDE BISECTS THE BASE)
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BD= %(3V3)= 3V3/2 cm
AB? = AD2+ BD?
(3V3)2 = h? + (3V3/2)?
27 = h? + 27/4

h2 = 27 - 27/4

h? = (27x4 - 27)/4

h?= (108 -27)/4

h= 2 = 45 cm
2
h= 4.5 cm
Hence, the length of the altitude is 4.5 cm.
Type 2
Side of equilateral triangle = 33
Altitude of equilateral triangle = V3/2a
= \3/2x 313
= 3(3)/2

= 9/2
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= 45

8. Solve:

C bba Cab ac ab ac

&y

C bba Cab ac ab ac

a. bcacb b. babcc c. abcbc d. acbcb
solution

The series is cabbac / cabbac / cabbac.
Acbcb is the correct answer

9. A hemisphere and a cone have equal bases. If their heights are also equal,

than the ration of their curved surfaces will be

@ AMISCHTM(LPLD, FalDLLD @G SigLILSHSHSHME 65T e80T (D 6IT6T 60T.
Sleummleir 2 WIF(PLD FOLW 6T6afleL eummle eusmemrupLiLer el&lgLd
6T 60160172

a. 1. 2 b. 2: 1 c. 1:42 d. vV2: 1
solution
Curved Surface Area of a hemisphere = 2mr? where r = radius

Curved Surface Area of a right cone =Tirs where r= base radius, s= slant

height

Bases of the hemisphere and a cone are equal. Therefore, their radii are same.

7 www.winmeen.com | Learning Leads To Ruling




Winmeen Tnpsc Gr 1 & 2 Self Preparation Course | 2018

Let radius of the hemisphere = base radius of the cone = r
Their heights are also equal. Height of the hemisphere = r
Therefore, height of the cone, h = r

Required ratio 2mr? = mrs

2r? = r V(1% + h?)

2nr? = r V(r? + r?) (height of the cone, h = r)

2nr? = mwr V2r?

2nr? = ar2\2

2 12

=V2:1

10. If %xs = 1, then x is equal to

X

5 . . . .
7o = 1 erefley, x-60T oG] eTTLIS)

solution

5% = 125

11. The age of Vivek and Sumit are 2:3. After 12 years, their ages will be in

the ratio 11: 15. The age of Sumit is
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allCeud MM &G péHW Queufler auwgseaflenr aNlsHd 2:3. 12
0T BHEH5G UNIMG aujseafler euwig NG 11:15 erefled HLOS Heor
QW G|

a. 32 years b. 42 years c. 48 years d. 56 years
solution

Let their ages be 2x and 3x years

2x + 12) / (3x + 12) = 11 /15

= 15(2x + 12) = 11(3x + 12)

= 3x = 48

~ X = 16

Age of sumit = 3x = 48 years

12. A certain sum of money amounts to Rs. 10,080 in 5 years at 8%. Find the

principal

@ GOUNILL QsTamsWTargl 8% allly ai555H60 5 B sefle emn.
10,080 4HME|. FM6LS &IT6HUTS.

a. Rs. 7,200 b. Rs. 7,000
c. Rs. 6,200 d. Rs. 7,300
Solution

Given

Amount = 10800
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R= 8%

t = 5 years

A = P(1 + n)

R = R/100 = 8/100 = 0.08
10800 = p( 1 + 0.08 * 5)
10800 = p (1 + 0.4)
10800 = 1.4p

P = 10800 / 1.4

P = 7200

13. X and Y and Z can independently complete a piece of work in 6 hours, 4
hours and 12 hours respectively. If they work together, how much time will

they take to complete that piece of work?

X,Y,Z 6§ &G (b GCeusmevenl (WPIg.58 6 Lo6wolIGHILD, 4 LIIGCHILD,
12 LfICHILD, TR SIS CQHTTHIGTM6T]. cLpeU(HLd CEFFHE)
2l6UGeumeLMIL (LPlg&& eTeueuee] GHIW qTHHHISH GG meTeul?

a. 3 hours b. 5 hours c. 6 hours d. 2 hours
solution
(1/6) + (1/14) + (1/12)

L.C.M will be 12

2+43+1 _ 6 _ 1 _ work
12 12 2 hours
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14. HCF of ¢ —d? c* — cd

c? — d?,c* — cd - et 1B.Qum.6u

a. c+d b. c-d c. ¢2—d? d. c(c-d)
solution
2—d? = (c+d (c-d

c? —cd

c (c-4d
HCF of ¢2—d? c?—cd = (¢ - d)
15. The product of two relatively prime numbers is 35. Their LCM is

P TMISHCSHITEHTM] LST eTevorsHenmerr @yevor(B 616vor&efleor QL5560
QzTem s 35 eTerfled eummleir IFFHM CQUTF OL MG

a. 1 b. 8 c. 35 d. 15
solution

H.C.F of co-prime numbers is 1. So, L.C.M = 35/1 =35

For example 2 and 3 are prime number H.C.F will be 1

16. If

R |-

< I
N R

= 2:3:5, then xiy:z is

=
< I

N =

= 2:3:5, ereufléDL x:y:z 6TEOTLIG)
a. 2:.3:;5 b. 6:10:15 c. 5:3:2 d. 15:10:6
Solution

Let 1/x = 2K, 1/y = 3K and 1/z = 5K where k is constant
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Then, x = K/2, Y = K/3 and z = K/5

x:y:z=K2:K3: K4

12 : 1/3 : 1/5

15:10 : 6

17. Find the volume and surface area of cuboid 16 m long, 14 m broad and

7m high

16 LS Herpd, 14 1F Qiseopid, 7 1B 2 WIFUPLD QASHTEIITL. & 6078 I &6
Seolene] MM uruy Sevor(RLilg.

a. 1568m?3,868 cm? b. 1560 m3,864 cm?
c. 1460m3,860 cm? d. 1320 m3,850 cm?
solution

Volume of cuboid |l x b x h

16 x 14 x 7 = 1568 m?3

Volume of cuboid
Surface area = 2 (b + bh + I|h)
Surface area = [2(16x14 + 14x7 + 7x16)] m? = 868 m?

18. A is twice as good a workman as B and together they finish a piee of

work in 14 days. In how many days can A alone finish the work?

A 6TEOTUIGU] B-6MW SITLIQEVID @@HLOLKIEG AMUUTS Celsnevemul Q&uwleumiy.
Qe CEIhg HG GCeusmevenwl 14 HILGaM6L (PIQLUTTSET. sTarGeol
A BB 3SihG Ceumevemwl (P85 THHMET HITLSHET Y (GLD?

12 www.winmeen.com | Learning Leads To Ruling




Winmeen Tnpsc Gr 1 & 2 Self Preparation Course | 2018

a. 11 b. 21 c. 28 d. 42
solution

let work done by B in 1 day = x

work done by A in 1 day = 2x (A can do twice the work of B)
therefore work done by A and B in 1 day = x + 2x = 3x

A and B can finish work in 14 days

Work done by A and B in 1 day = i

work done by A in 1 day = 2x

1
sub x = —
42

19. The largest 4- digit number exactly divisible by 88 is

88-60 QUGULS Falgll OIS QUL BTETG @6EV5HS 6T6U 6T5)?

a. 9944 b. 9768 c. 9988 d. 8888
solution

Largest 4 digit number = 9999

9999 + 88 = 113, remainder = 55
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Hence largest 4 digit number exactly divisible by 88 = 9999 - 55 = 9944

20. A is B’s brother, C is B’s Father, D is C’s Father. Then A is of
D.

A eT6oTLIOU] B 60T FCHMHI6OI. C eT6orLIoU]) B W6HT SH6M. D eT6oTLIOU] C
wil6dT HH6MS 6TEIMITEL A eT6oTLIEU) D ull6or

a. Grand mother b. Grand father c. Son d. Grand

son

solution

A and B are brothers
C is father of A and B
D is father of C

So A and B are grandsons of D

3 11 25 11 33
21, - X—=+ (( =X—=)+—= =2
27 5 44" 5 15
2 126 101
a. 1- b. - . — d. 5—
3 125 125
solution
11 5 33
_X _____
5 4 15
311 4 15 6 1
275 5 33 5
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